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Differentiate each function with respect to x.

) y=(5x"+1)? 2) y=~l-x>-4

3) f(x)=(4x° -~ 1)Vx+1 4) y=~-x*-1(-x-2)

5) y=(@x~1)(-3x* -4)~ ( 55 -3 )3
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nf (x)=(ELFSL)“g hS0)= ; -—53

9) y = sec 2x* 10y f(x) = (-3x* - 1)ese 5x*
1) f(x)=cos3x?- V51 12) f(x) = sin 4x>

13) fl) =S 14) y=cot V/-5x* -2

" tan 3x°



Answers to Chain Rule Practice
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8) f'(x)= 5 = 8x’sec 2x* - tan 2x*
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10) f'(x)=(=3x> = 1) - —csc 5x*cot 5x* - 20x> + csc 5x* - —9x?
= x’csc 5x* - (60x*cot 5x* + 20xcot 5x* - 9)



11) f'(x)=cos 3x? %(Sxt 1) 2 15x% +(5x> = 1) - —sin 3x? - 6x

_ x(~30xsin 3x” + 6sin 3x” + Sxcos 3x°)
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12) f'(x)=cos 4x® - 12x?
= 12x%cos 4x°
_fan 3x° - 16x° — (4x* +5) - sec? 3x° - 15x*
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